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Instructions

1. This paper contains fifty multiple-Choice Questions, each question carrying two (2)
marks.

2. All questions are compulsory.

3. Total time given for this paper is 1 hour.

S

L 59 I & g aglamediy goT & 90F JeT # &b (2) 5F &
2. T et Jifaard &1

3. 89 9% & [T fagr arAr ol FHT 1 HeT &

1

Below are given a number of key behavior as well as helpful behaviors of effectiveness
of teaching based on research evidence. Identify those which are key behaviors and
indicate your answer by selecting from the code.

1. Structuring through comments by the teacher in respect of what is to come.

2. Questioning through contents and process level questions.

3. Lesson clarity implying the extent to which presentations are not involved.

4. Probing which implies statements to encourage student to elaborate

5. Engagement rate devoted to learning when students are actually on task

6. Rate at which students understand and correctly comprehend assignments and correct.

Code/ghe
(a) 1,2 and/3iR 3 (b) 1,4and/3iX5
(c) 1, 4 and/3iR 6 (d) 3,5and/3iR6

A F$ Fgcaql TAER & WIY-HIY IHEUE F Hdl & YR R fAaqor Hir
weTaeieldl % WeTh SqaER U 7T | 3 H ggHel S WY FaeR § 3R
FIS T T Feh 9T 3cal Gl

1. 8T 1 feeuforat & Aregsr ¥ TaaT e fof 4 3T §

2. 9t 3R 9fsRar R & |ard & AIA ¥ oo

3. SEqfcreoT 7 TR ge oo enfdrer wIET R 1T &, ¥E Tosedr

4.3 S oEl B REgd W F v dicwRd wa F fow wuer #woant
Farr &

5. 39 Y X dEe & fov @Afid § o9 o arad # FF ) el §

6. 9% X @ W oF AT ¢ 3R T o1 § e 3R T@E FH o d

gl
EoES
(@) 1,2 3R 3 (b) 1,4 3Rk 5
(c)1,43R 6 (d)3,53% 6

Identify those stages/steps of research in which ethical consideration become relevant.
1. Identifying and defining research questions

2. Postulating relationship among variables to advance a solution

3. Collecting data through use of research tools

4. Defining the population and sampling procedure

5. Data analysis and procedure employed

6. Reporting procedure of findings/results.

Code

(a) 1, 2and/3R 3 (b) 2, 3and/3iR 6

(c) 2, 3and /314 (d) 3,5 and/3iR 6

ST & 37 TROT F vgEe et A RER T & o €
1. MY geaAT I IgaTeT HAT 3N 36 IRATNT H&AT

2. T8 FFTe @ 79 o & AT W & S w9y T iftd S
3. THUIA RN & IUANT & HEAH § ST Uehd Hall

4, FAEEA F ARGV T HR AT ¥ 7 AT

5. a1 fazawor 3 ufhar et

6. fseny / aftomAT Hr Raiféar ufsear

FIS

(@) 1,2 3R 3(b) 2,3 31X 6

(c) 2,331k 4(d)3,531% 6

In order to promote direct learning which of the following methods would be best suited?

(a) Discussion session (b) Project method
(c) Team teaching method (d) Lecture with example

gegel RIeT #1 gerar ¢ & fov Fefaiad # @ Fia @ f&aftr ge@ s9gea
grefre

() == | (b) aRArST=T fafer

(c) €T fRvgroT fafer (d) 3ETEXOT & AT ITEITA

In the two sets given below, Set-I provides the format of presentation and Set-Il gives the
distinct features to go with them. Match the two sets and select from the code to indicate
your answer.

A T v ar det A, Fe- | Tl W OYRY Gere el @ AR de- 1l 3w
Y S & T HSET-3renT graand Sar g1 ar di i Fee w3 3"er
3ec 30 e & foT @5 @ TuT H

Set| Setll
(Format of Presentation) (Research Methods)
Based on free-wheeli f
A Thesis/dissertation 1 .ase oniree-wheeling o
ideas
Target oriented group based
B Research paper 2 & . group
reflection
Reflective deliberations
C Workshop 3 o
based on specific themes
) Presentation on summary of
D Seminar 4
research done
5 Systematic prescribed format

Code/ghe

A B C D
@5 4 2 3
b1 2 3 5
2 3 4 5
@3 1 2 5

In the two sets given below, Set-I specifies the methods of research while Set-11 describes
the critical feature associated with a method of research. Match the two and select from
the code to indicate your answer.

A QU 1w g de, de- | HgHU F Al F Afdse Far § sete de- 1
FgHa B ugfd  FI Agcaqul IRV FT a0 AT ¥l At F e
F IR HIAT 3R AT WA & foT Iz F TIT A
Set| Setll
(Distinctive) (Critical Features Associated)

Generalising to the population
Experimental method 1 & pop
from alarge sample
Establishing the patterns of
Ex-post facto method 2 .g P
events which have
Studying shareed behaviour
Historical Method 3 uaing aviou
patterns
Establishing cause and effect
Ethnographic method 4 &
through control
5 Probing into causal factors from
the observed effects
Code
AB C D
(@4 5 2 3
2 3 4 5
©2 1 4 3
(@1 2 3 4

Which of the following statements best reflect the meaning and characteristics or
research? Select from the code to give your answer.

faf@a # @ a9 @1 Fu9 g9 eor JF IR AAwant ar o w7
gfdr §2 39T 3cR &t & AT &5 &1 TI7T X
Research means challenging the status quo.
. Research is an endeavor to collect facts and information
. Research is a synthesis of deductive and inductive processes
. Research means proving one's assertions and beliefs
. Research is a careful review of reported studies.
Research is a critical and passionate search for knowledge
Code
(@) 1,5and 6 (b) 2,4and5
(c)1,2and3 (d) 1,3and6
1. Qs &7 AT § FUreAfa & galdr e
2. g qLAT R GEAAHT FT RS HA B TH T &
3. 3, fesfore 3t dsffea gfthanail &1 Heeryor &
4. FgEeT 1 3 B R & faearw R fearw A @rfdd war
5. FgaeTe RoiE fhw 10 et A srauedyEs qeer §

6. ITHET A & AV vk Hgeaqol R &1gH @t &
For organizing, an effective teaching learning system which of the following combination
of statements would reflect the most appropriate concern? Select from the code to
indicate your answer.
IS & fow, v geardr Rueror Afes gomer Rafaf@d e # @ Fia
T FASTT U SUGFA FEGY H GATIT? AT 3ok T el & e g
q TSI R
. Determining what will be the intended learning outcome
. Deciding as to what strategy and tactics will be used
. Formally approving academic qualification of teachers
. Determining the evaluation tool to be used
. Deciding the sizes of the classroom
Assessing the prior academic experience of the learner
Code
(a) 3,4,5and/3{R 6 () 1,2 3and/3iR 4

(c) 1,2,4and/3iR 6 (d) 1,3 4and/3iR5

O WNE

o kswWNE



10.

1. 7 RuiRa & & @@ & 3327 47 gt

2. fra I 3R ToEhfa @ 39T R STee, I8 97 el
3. et A JeI0F dreger Fr oaRE @ F A G

4. 39207 T S aTe Hedishel 3UROT & feRor

5. 8Tl T ITHR I AT

6. Rl & g Aeif0eh 3ieqera H 3eholel HTAT

The paradigm of research which focuses on the development of professional expertise of
the researcher practitioner is called

FgHU F YA S eiuwd sagardt f caraaie fadvaar & s
w%ﬁﬁﬁ,ﬁm%

(a) Pure research (b)  Applied research
(c) Qualitative research (d) Action research
(a) Y e (b) 3TTIHGF ITTHETT
(c) IoTIeHH JTHETA () foram srgaen=

From the following list of learner characteristics identify those which will be helpful in
ensuring effectiveness of teaching? Select your answer from the code.

drger #r fadwanst fr Feafaf@a @& @ 37 et & ggae wF S Rator
&1 gerraelierat AT el F TErIh g HIE A 3T 3o ol |

Extent to which learner obeys the school rules
Learner's level of motivation

Feelings of learners towards the social system
Learner's interest in sports and games

Prior experience of the learner

Interpersonal relations of learners

Code

(a) 2, 5and/3iX 6 (b) 1,3and/3iR5
(c) 3, 4 and /315 (d) 1,2and/3iR3
1. fore Remdt & wer & st & arere faar

2. RIenfiat dr 9Rom 1 TR

3. Ao sgaedr & ia Rt fr sraae

4. @ AR W 7 et v s

5. R 1 g regera

6. Renfiat & uRTaRe deer

Which devices from the list given below will form part of formative evaluation? Give
your answer by selecting from the code.

T & oS g ¥ FlF 3R weile HAeaiws & e s #E 8
T Feh AYAT 3cck &

Sl wNE

1. Conducting a quiz session

2. Giving multiple choice type questions in post instructional sessions
3. Giving a mastery test

4. Providing corrective feedback during discussions

5. Encouraging opportunity for metacognitive thinking

6. Grading student's performance on a five-point scale

Code

(a) 2, 3and/3iX 4 (b)  1,4and/3iR5

(c) 4, 5 and /316 (d) 1,2and/3iR3

1. T FeAlcdr TF &M ITAIsteT

2. OC SECHRITS A H Tglahe T JhR & 9ot &l
3. U HERA HT el =1

4. e & SRIA GURIcHS GAfar Jere s

5. AeThIATed AT & T Ncaed e arer 3aaR
6. Urd-fig dAE W B H Feda

Directions (Q. Nos. 11-15) Read the following passage carefully and answers the
questions.

One of the findings of the research into successful leadership is the fact that respect is
always a two-way street, No matter how powerful you are, no matter what your
experience, skill and accomplishments, you will not be respected by others if you
consistently treat them disrespectfully. Friendliness-that is treating others politely and
showing interest in them is a way of showing your respect for other people and in return
they respect you. If as a manager you are respected, preventive maintenance strategy will
be accepted as a sincere attempt to resolve problems rather than a mean-spirited attempt
to cause problems. As important as friendliness is, | want to make sure you are not
mislead into believing that friendliness will replace or correct poor management. | have
seen effective managers who did not use this friendliness element but could have been
more effective if they did use it. | have seen very friendly managers who were ineffective
because they were not doing effective than manager who intervenes effectively in a non-
friendly way. Maintaining a friendly relationship is another part of maintaining work
performance. It also helps you avoid having people try to hurt you because they do not
like you. It might save your life.

Hh Aiqged A Ay & et & § vh dg g5 ¢ & @A gAwr A A
g 8, Wie 3T fhde off fFdemen FAT A §F, 3MUh Ieea, e 3R
AT & IS B el TS, T RNAR GE HT FFAGT g HEl 3ol
Y AT qaER HY| FFar- S gE’l & @y Raaar @ g 31 W ¢
IR 3 feemed REer 3mg et & ufd e §FAe Ee # ue
e & AR Fe F T IR FFAT R &1 I T g§UF F FT H R
FFART AT ST &, O aRe @@ OEIfT S G@Ensi & gd w1 &
T T AT T F S FAEBT BT FT & U SHAWER AW &
 # R R sreen| A S Jgeaqet @, & aw gfRaa awer
=Ear § o 39 FE e & Y A @9 yeu # geer & ar @@
F I H 0 gy yees @ € S 5@ fAFAr ded @ ITANT 4G aRa o
mﬁéwmﬂﬁaﬁm%ﬁwmﬁﬁa@a
FqT el A ST § S vt & FifE § yeud B gorem # qeer 7A@
& S v IR-ITge al § gHE ST § gEARIT A g1 AT Fey S
@A FY TEL AT @A FT Uh AR REAT §1 F@ IS 3T AR F qwy
ﬁmm%&ﬁmﬁrcq@ﬁﬁmrm%wﬁ:amm
T AR &l 3TN TR T T TR §
11. According to the passage friendliness in management terms implies?
gete I ordt F i AT & AR aed 82
(a) Making management effective
(b) Making management ineffective
(c) Replacing poor management
(d) Correcting ineffective management
(2) TSH=T T THTAT FeATeAT
(b) TSI T ITHTA FeATAT
(c) @IE YaY=T & S8
(d) 3T YeErT T Sk AT
12. The central idea of the passage is/ T #T Ferg TR &
(a) Friendliness improves work-ethos.
(b) Friendliness avoids change of feeling hurt
(c) Friendliness is necessary for management
(d) Friendliness is a negative factor for management
(a) P FE-NFER F FUR A &
(b) FTaT 36 8 & RIS & FTr §
(c) IeitreT & forw fA=ar 3maeas &
(d) TAFIAT U FT U ARRIcHS HRP &
13. The passage highlights which of the following feature of a successful leadership
AET T GHIT ST AT § S U Ao Aged B ArAaf@d Qv §
(a) Reciprocity of the leader/ #dT &I IRTIRHAT
(b) Least concern for relationship by the leader
AT garT Feut & fov &7 ¥ &4 [&ar
(c) Independence of the leader/ =T T Taa=ar
(d) Dependence of the leader/ #dT T fAeRAT
14. What is reported in respect of successful leadership?
HHT AJcd & HIY H FIT IA”T AT §?
(a) Respect depends on the accomplishment of the leader
(b) Respect comes out of respect
(c) Respect depends on the skills of the leadership
(d) Respect depends on experience of the leadership
(a) TFATA AT & 3Uafey W HIR Far &
(b) FFATT AT § fAherar §
() FFAT AJed & Pl W AR AT §
(d) TFAT e & 3T T AR e ¥
15. The preventive maintenance strategy used by a respected manager will mean to the
subordinates

& FFATTAT Je8H EaRT 3UART i o arell fHaRe IER@a Wi & 379
Jrefieredt ¥ g

(a) An attempt to become sincere

(b) An attempt to become mean-spirited

(c) An attempt to resolve problems

(d) An attempt to cause problems

(a) $ATIGR efel T TATH

(b) &T% ST T YATH

(c) THETTHT FI gl FA &I TITH

(d) FFAEITIT T HROT Fefel DT TAH
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16. Which of the following is incompatible to communicating similar meaning?

17.

18.

19.

20.

21

22.

23.

24,

25.

26.

frfaf@a & & Fla @ gA 3T H TIRT W F v e §2

(a) Enrichment/ Tad=r (b) Advancement/ 3e=Tfel

(c) Prosperity/ ®afg (d) Excite/ 3caTg

In the sequence of the numbers 2, 8, 26, 62, 122, 212, x ..... the term X is

HEAT 2, 8,26, 62,122,212, X ... HH H X T §

(a) 248 (b) 332

(c) 338 (d) 302

The number of marble slabs is size 20 cm x 30 cm required to pave the floor of a square
room of side 3 m is:

FIAAR (20 VN x 30 {al) Tolet f TEar &, S & 3997 e & I IR F
B M & T maEs &

(a) 150 (b) 25

(c) 100 (d) 225

Rs.9000 was divided among a certain number of persons. Had there been 20 more
persons, each of would have got Rs.160 less. The original number of persons was

9000 ¥ faf¥ad afeadi & &g feenfoa & 3R 20 3R =gfFa g, ar

Sl H 150 T FA fHerd | aferadt f Ao dear O
(a) 55 (b) 30
(c) 45 (d)25

Five persons Amit, Anil, Ajay, Atul and Anand live in a five story building on different
floors. Amit lives above Ajay, but below Anand. Atul lives above but below Amit. Anil
lives below Anand, but above Atul. In which floor does Anil live?

FEET A FARD H @ &l JAT 39T § IR WA ¢, dAfhed 3meig & A
HIA TN G § AT AT A 3 el F A @ & AT g
¥ 3R e fora Afder 7 & &

() Third floor/ Jrar #HfSer (b) Second Floor/ g&dr #fSrer

(c) Either third floor or fourth floor/aT ar ey #fSrer ar @il AfGer

(d) Fourth floor/ =teft #HiSrer

In communicating in a classroom situation which one of the following approaches will be
considered most appropriate?

FeT H AT 7 TaR o g7 Feafaf@a § F a9 a7 ehor q&eaq
IIFA HAT SATT?

(a) Empathetic and pragmatic (b) Personal and emulative

(c) Technical and domineering (d) Assertive and conformist
() TFRfew 3R =aTagIRS (b) =afFIA 3R gl
(c) ety 3R gaar (d) FER 3R 3rTEuErEr

.7, Play : : Sing : Song

(a) Scene (b)  Act

(c) Theater (d)  Field

Rajesh his sister, his son and his daughter are fond of golf and often play together. The
following statement is true for all the four

TS 3R 6T, 3aAh a¢ 3R 3ADT I Med & AP § 3R 3w T
ToId §| fafaf@a s« art & fow @8 §

I. The best player's twin and worst player are of the opposite sex

11. The best player and the worst player are of the same age.Assuming that both twins are
members of the group of four, who is the best player.

(a) Daughter of Rajesh (b) Son of Rajesh

(c) Rajesh (d) Sister of Rajesh

| Fed e st &1 Sfgai AR aad @e [@erdt faula fofer &1 giar &

1. F 3reaT FEeer 3R T T et v & 34 & & T A gU
gl Ssar IR & FHE & T d g, SN FaY eor ey gl

(@) Trorer Fr X (b) IroTer FT FeT

(c) TroTer (d) Irover fr g

In a certain code, LIFE is written as KMHJEGDF. How is WORD written in that code?
s fAfRad Hs #, LIFE &I KMHIEGDF for@r Jrar €1 38 &8 & WORD &H#

for@m rar g2
(a) XVPNSQCE (b) XVPNSQEC
(c) VXNPQSCE (d) VXNPQSEC

Which of the following is a powerful for effective assertive communication whether
written or spoken?

Tl # & #la yodr e §aR & v uw afFaereh § @ @
faf@a g ar drer = g
(a) 'They' message

(c) 'We' messages

(a) T TeRr (b) & 2w

(c) & Hawr (d) 3T FHeRr

Given below is a statement followed by three assumptions made from it. Which
assumptions are implicit in the context of the given statement? Select the correct answer
from the code given below.

Statement 'Smoking is injurious to health' - A warning printed on the cigarette packets.
Assumptions

1. People read printed matter on a cigarette packet.

2. People make careful note of warning

3. Non-smoking promote health

(a)2and 3 (b) Only 1

(c) Only 2 (d)1and 2

AT T T UF 9 F a1g N URonT €| U AT FUA F Tl F AT @
R fAfRa 2 A T 9T #13 I T Icak & TIT HX

FUF YAIA T & v gifaere ¢ - e & 86 W sh vw Adret

(b) 'I' messages
(d) "You' messages

217.

28.

29.

30.

AIATHT

1.9 ReRe & e W #fea A ued g1
2. ST AT HT A W

3. YA o A TAELT FHI Ferdr &ar §

(@ 2 3R 3 () Faa 1

(c)aer 2 (d) 13K 2

Which of the following constitute the paralanguage in communication? Select from the
code to indicate your answer.

rafaf@d # ¥ Fid FOR H TaTard & Tod AT g7 JIT ek ghord
e & fIT HIg F TIT H

1. Pitch of the voice/ 3TTaTeT I e

2. Internal noise/ 3TTaRk& AR

3. External noise/. STg3r 2T

4. Use of pauses/ 3g31d &l 39T

5. Rate and volume of speech/ $TSOT & e 31X #AMET

Code/a:?
(a) 2,33iF 4 (b) 1,43 3
(c) 1,331R5 (d) 1,23k 3

Which of the following would influence the effectiveness of communication in classroom
instruction in a critical way?

(a) Subject knowledge of the teacher

(b) Academic intelligence and personally characteristics of the teacher

(c) Teaching aids used by the teacher while making presentations

(d) Teaching style preferred by the teacher while transacting

FFAfafad 3 @ FleT U Ageaqol alh & Fa fder # gar &1 weraeiear
1 garfad &am?

(a) R18TR &7 fawg AT

(b) RieTe &1 derforer giewear 3 safeara et

(c) TEGfrT XA HHY fAeTh ZarT GgFd fRAeTor e

(d) 3T S FAT RaTw g@rr qwe i S feTor Al

A teacher decides to form six groups of students and assigns a sub-theme to each group
for discussion and reporting. Which kind of communication model will best describe
his/her strategy in this regard?

(a) Transactional model (b) Linear model

(c) Horizontal model (d) International model

s feTw ol F ©F GAE e 1 hHeT aRar § AR =t sk R &
T 9 Fg @ UE 39-fAva HWiar §) R YR @1 §ER Alsd $6 Hay
H 3R AT H TEY 3TOT gUTT HLam?

(a) SeTeeT ATl (b) Y@+ Az

(c) &fast Az (d) IRTET AT

Given below are two premises with four conclusions drawn them (taken singly or
together) which conclusions are validity drawn? Select the correct answer from the code
given below.

Premises

1. All politicians are honest person

11. All honest persons are fair

Conclusions

1. Some honest persons are politicians

2. No honest person is politician

3. Some fair persons are politicians

4. All fair persons are politicians

(a) 2and 4 (b) land3

(c)1,2and 4 (d) 2and3

AT BT av & oWt # IR Ty @A v § (378 U @y A1 ue Ay
forar arar §) i @1 Avwy @erem ar §2 AT e v A F TE 3R @+
I A

jarg

|. T3 TSTAAT SHRER T §

11787 $AEER cafed fasaer §

sy

1.5 $AWCR afFd Toidr g &

2.FE o SAWER afd Toleial A8 giar &

3.3 fvuar wafFd e g §

4. 7 forsuet afda ToEfa &

() 2 and/3iR 4 (b) 1 and/3iR 3

(c) 1, 2and/3iR 4 (d) 2 and/3iR 3

Directions (Q. Nos. 31-35) In accordance with the tables | and II, answer the questions
that follow.

Consider the following two tables (I and 1) in which table | shows the percentage of
students who joined and successfully completed the Ph.D. programme from the A to G
and table Il shows the number of foreign Ph.D. student enrolled in the University C.
These percentages have been rounded to the nearest whole number. There are the totals
of 855 Ph.D. students in the University C and a total of 5700 students successfully
completed the Ph.D. programme firm all the seven universities together.

1. Students University-wise
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% of Students who
Successfully Completed
Ph.D (Out 0f5700)

Name of % of Students
University =~ who joined Ph.D

A 22 18
B 19 17
C 10 13
D 17 16
E 8 9
F 12 15
G 18 12

11. Foreign Ph.D. Students on University C

Foreign Number of Ph.D Students in
Students University C
American 65
Australian 46

African 25
European 35

fA&er (31-35) Anforemiail 131 11 & 31ER, 37 9aAl &7 3ea¥ & § Foeeht 3gazor
o SITaT gl
rAfafad o arfessit (1311 1) )’ AR wF % g arfasr 7§ 1| 33 o=t @

gfcrere f@raT & S diewdt 3 e gu AR AherdES 07 §U

T & S 3R T

18 FwA fagel droasdr @1 dar @ gafar g1 o o faRafaczme & 7 gif@er

form

|. o faeafdcare-a]

I1. faeafacarerr @ X fageh drvad s

31.  Incase, there are 21 African students in University E, then approximately, what is their %
in that University?

Aer 7, faeafaearers § & 21 3nfE o § ar oeremn, 38 fazafacare #
3AH % FIT 82

(a) 5% (b) 2%

(c) 3% (d) 4%

32.  What is the ratio of students who successfully completed the Ph.D programme to the
students who joined in the University G?

Taeafacare S 3 anffie g arel ol @ NUEd FEEA Ghdad as 0
e aTel BIET &1 3T 47 82
(@1:2 (b)9:17
(c)3:4 (d)6:11
33.  What percentages of students in University C is that of foreign students?
Taeafaearera C# ot &1 e ufaerd faeeh ot &t §2
(a) 20% (b) 15%
(c) 25% (d) 30%

34, The number of students who completed the Ph.D programme from Universities A and D
together exceeds the number of students who joined the Universities C and E together,
by
Teafaeamedt T 3R & § A FEEA U A ad SHE HOHET T
a1y faeafaezrerat @ 3R § F arffe @ arer orEt i TEar ¥ A0E §

(a) 369 (b) 399
(c) 409 (d) 419

35.  Which University has the highest percentage of students who successfully completed the
Ph.D programme out of the students who joined that University?
fra feafacare & gow 3« gfaed o § Sl 39 faafaeaes &
fAe g arel sl 3 @ duast FRiwA FhddEs g fHar §2
(@ E (b)F
(c) B (d) C

36.  Which organization in India overseas the functioning and quality aspect of teacher
education programmes?
AR H FiT G Feroa et RN FRAGAT & FARer 3R OEe F uge]
Fr el 7 T@ar g2
(a) Association of Indian Universities (AIU)/ TaIffTes 3 sf3ae gfaafics
(w3EY)
(b) National Council for Teacher Education (NCTE)/ IS 3reamdeh fRem afkwe
(NCTE)
(c) University Grants Commission (UGC)/ faafdemers rgers 3t (gsie)
(d) National Council of Educational Research and Training (NCERT)/ Iserg Qférs
JepEUTE AR wferor aRwe (NCERT)

37.  Which of the following statements are indicative of the vision of the Blue-Revolution?

For your answer select from the code.
Frfaf@d & @ T @ wua sopwifa f ¢S @1 edias §2 39 3o’ &
AT I3 & TIT HXI
1. Promotion development of Botanical Gardens.
Sictade ST 1 AT P Fgrar &l
2. Creating an enabling environment for the full potential of fisheries in the country.
& F AET aTelel T G &TAT & AT TH TETH aATATEROT e ATAT|

3. Improving the income status of fish farmers keeping in view the sustainability
concerns.

38.

39.

40.

41.

42.

feRar & Rapi @ ca § @ gu Aser- fae fom d
Eufa & gur|
4. Encouraging scientific research in forestry to increase the vegetative cover.
AEEYfcieh 3RO el & foIu arferehr & daTfereh 3eqaen= & Aicanfed
FEAT|
5. Promoting integrated development of fisheries of the country/ 22T & HcEI ITelal
& ThIpd [ HI SordT Sl
6. Undertaking research in new areas like marine finfish. /&gl fheTfther ST w7 &1t
# 3iETRT S|

Code/she
() 3,4and/3iR 5 (b) 2, 3and/3X 1
(c) 2,3and/3iR 5 (d) 1,4and/3iR 6

In the context of a school/university which of the following aspects of environment
determine the academic ethos?

U el | favafaearerd & deel # wAieRor & Al v & & wi
a1 Mfars R Fuifa Fwar 2

(a) Attractive physical campus/ 3TTeh¥e miIRe IRER

(b) Well-equipped lecture halls/ 3TeST @& & FHToId carEdT Hal

(c) Patterns of human relation as evident in workplace/ HFRIEAST H TIST FT F
AAGT HoY F eeT

(d) Latest lab equipment’s/ Fdleca o 3ThHIOT

Which of the following activity/programme in a University aims at Value Education in a
holistic frame?

Rl fazafaearee & feafaf@a afafafer / sFa &1 [T v a7 A &
g Rretm &2
(a) National Cadet Corps (NCC)/ ISEIT e R (TTErET)
(b) Yoga Education and Wellness Centre/ 3T RI&T 31 Fearmor &g
(c) Inter University Competition/ 3R fazafaeare wfaanfarar
(d) Fine Arts and Musical Concerts/ sfoid @l 3R Tfid Ta@RE
In Computer Terminology, which of the following best describes a device driver?
FYX A H, TATIGd F H PleT T 3IHOT qToldh A qaH 30T
quiet e 2
(a) Software that allows the user to control the operating system
FiredaY Sl 3Te i AT Rfeen w1 Efa & & seafa
& &
(b) Hardware that allows the user to control the operating system
BIEAAT SN IR I SREr Rwen & FEfa &= & siegafa
&ar &

(c) Hardware that allows interaction between peripheral device and the operating
system

gEamX s aRefiw 3uewor R R Rred & g IREIRs fFar
& Al e §

(d) Software that allows interaction between peripheral devices and the operating
system.

drreaR S aRe 3ol 3R RS Rwea & & aada f
FAfT & gl
In the two sets given below, Set-I specifies H,S level in a water sample, while Set-11

provides observations. Match the two sets and indicate your answer from the code given
below.

A Rw arw @ det &, de- 1 TF Ul F AHT H HoS FR H Afdve Fwar g,
Fafh A~ || Iqelds] Y&t HIT &1 & Al &1 Fae &Y AR g o v
HIS F AU 3ca H Fhd Gl

Set| Set |l
(H2S Level in Water Sample)
A NoH,Sis produced

B H,Sis produced and is small in quantity

(Observation)
1 Darkblack-high water pollution

2 No Colour-clean water

C H,Sisproduced andis mediumin quantity =~ 3 Light back-low water pollution

D H,Sis produced and is high in qunatity 4 Black-moderate water pollution
Code/&e

A B C
@2 3 4
b1 2 3
©4 1 2
d3 4 1
For promoting Human Values through programmes of the University System in India.
Which of the following activities have great potential?

R # farafdearers yomel & FriHAT & ATH ¥ AT Hedl H qordr ot
F fou| feafaf@d 7 @ #ia @ afafafet 7 a3 aar &2

(a) Association of NGOs/ 3R TRHNY TIrsaAT H TAIfFTLrT

(b) Lectures by experts/ faQrszit CART STET

(c) Mentoring by Experts/ faaT ganrT Hellg et

(d) Inviting dignitaries’heads from National Level organizations/ IS TR &
TISAT & VAT SAfFl / FHE H AT T

Nw s R Qg
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43.

44,

45.

46.

47.

Which of the following statements correctly describe the functions/status of the National
Institute of Educational Planning and Administration a deemed to be University?

Tefaf@a & @ Sl @1 U SEd SR 3 THAAd Tellfed U
wsfAfaras & st /1 Rufa & @@-08r avia WX &, o farafagzmer
HAT ST 82
Select from the code to give your answer./ 319=TT 3caR & & foIT &I & TTT Y
1. Capacity building and research in planning and management of education/
Rrer 1 Aotelr 3R gaere 7 araar Ao SR s
2. Educational planning and Administration/ & Iret=r 3R Tema=T
3. Fully maintained by the Government of India like any Central University/
el o &l faeafdearery & g ORd WHR @RT QU aE &
§oTT 3@
4. A statutory institute of Educational Planning and Administration./

Qe AT 3R g T T denfAw TEA|

Code/ghe
(a) Land/ 3R 2 (b) land/3iR 3
(c) 2and/ 3R 4 (d) 1and/3iR 4

The gap between those individuals in a society who are computer literate and have access
to information resources like the internet and those who do not, is referred as the

T GAS H 3 AfFddl & @ HA S FgeX @erR § 3R e o
(a) Terabyte divide/ ¢Uemse f3a13s  (b) digital divide/ 3foiear f3arss

(c) ICT divide/ ICT f3arss (d) information overload/ =T 3FRIAR
Using word processing software, an image on page two of a document is to be repeated
on page four of the same document. Which of the following would enable this to
happen?

g YrafiaT EiedIX 1 ITAT A U, SFAES & 56 & W TH ofd 34
TS F 56 IR W ARSI §1 Fentaf@a # § ST @ tw we
FaTH gHEM?

(a) Cutand Paste/ e 3R 9Fe
aeol

(c) Find and Replace/ ¢& 31X aget (d) Copy and Paste/ T 31X 9Fe &Y

Mohan tells his friends, Sohan (sohan@gmail.com). Rohan (rohan@yahoo.com) and

(b) Format and Replace/ &9 3R

John (john@gmail.com), date of his birthday party through an email as shown below.
FIgeT 39 areat, AlgsT (sohan@gmail.com) T FATAT &1 JgT (rohan@yahoo.com)
3R S (john@gmail.com), 3% FeAeT A I H aW vH AT &®
AEA § AT qqs T

To sohan@gmail.com

Cc rohan@yahoo.com

BCs john@gmail.com

Subject My Birthday Party is on 15/01/2019

Hello all, Mohan
Which of the following cannot be derived from this e-mail?

rafaf@d & ¥ did 0 $-AT ¥ U AT [har S Fehar 82
Code/ag

Call me if you can come

(a) John knows that both Sohan and Rohan receive the e-mail.
ST STeTaT & 3 Aleat 3R Qg @At $-AeT ured A

(b) Sohan knows that Rohan receives the e-mail./ &gl AT & & g &
§-Aer e g

(c) Rohan knows that John receives the e-mail/RigsT STeTdm § & ST & 3-
Fer ared &

(d) Sohan knows that the birthday party will be held on 15/01/2019/@gsT SIT=Tar
g fF SeAfea dr 9t 15/01/2019 & 3mafad i swesfr

Below are given sets set-1 mentions the types of pollution, while set-11 indicates their
source. Match the two sets and select your answer from the code.

AT feT 7T HeH -1 F YGWT & YERT F 3eold g, SAh He- |1 37F Hied
1 ST e §1 &7 Felh F Hae FY IR FS F 0T e o

Setl' Set Il (Source)
(Pollution
A Air 1 Point and non-point source such as discharges from industrig
B Land 2 Industries, thermal power plants and motor vehicles emissions
C Water 3 Roadway, aircraft, industrial as well as high intensity sonar
D Noise 4 Overuse of chemical fertilizers
Code/ghe
A B C D
@2 4 1 3
b3 1 2 4
()4 3 2 1
a1 2 3 4

48.

49.

50.

Which of the following provisions are directly covered in the Environment Protection
Act, 1986?
frafaf@a & & Fi9 § gaue gARer F@eor wfafaas, 1986 F A
anfder 87
(a) Prevention and control of water pollution/ STel SGNUT &I JHTA 3R fFzior

(b) Protection and improvement of quality or environment and preventing, controlling
and abating environmental pollution.

T 3R gTERoT T @07 R FUR R oAfewor gewor H A,
afa FEr 3R FATT |

(c) Protection and safety of wild animals, birds and plants and for matters connected
therewith
STell STTTert, Gferdl 3R dtel fir geeT AR 3w s Al & o
(d) Protection and conservation of forests and matters connected there with

gat 3R ATe & FRaT AR EET & @y qgl
There are two sets given below, Set-1 specifies the IT related acronyms. While Set 11
indicates their functions. Match the two give your answer by selecting the appropriate
code.
AT & Je Ru v § de- | NS Tefa At A [fEse war gl
Safe de 11 3% FEAT T ST AT 1 ITYFT HIS B AIA FF a4t
HT YA 3 &

Set-l Set-ll
(Acronyms) (Functions)
" cPU Type oftechnology used on a flat-

screen monitor

Controlls all the functions performed

B RAM
by the computer's other components
c ROM Ternporary storage, also known as
primary storage
permanent storage that is not
D LCD 4 erased when the computer's power
is turned off
Code/ge
A B Cc D
@2 3 4 1
b1 3 4 2
()2 4 3 1
d1 4 3 2

Which of the following bodies/units in a university has a statutory function to
perform?

e Rreaficaer # Prmffda & ¥ fra Few / sesat § sade s
F fav v @ifafas s &2

(a) Finance Committee/ faca @fafar

(b) Board of Studies/ s1$ 3iTh Teder

(c) Board of Management/ YsiereT &1

(d) Research Degree Committee/ Qier 3urfer @AY
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